SOShe T 2 K 2T 2]
AT LIRS 1 BT LA
(RN FfE E— i 2= FHAM EHA
EEE 5 LA
1 |08:10~09:00 (R (=) K—L
1E 403
EEEF LA
2 |09:10~10:00 (R H(5) K—H5L
1E 403
e EmEan | mess | weEsE R B (L | Rk
3 |10:20~11:10 j(?fg%/nj)( N LA el B ES e D/%@(ﬁ#%g;g/m ) s "
T 0 (R4 BRER) | oEHD o a0 (CEZE4H) (8
K 402 1E 403 1E 406 K 102 1F 403
o BT | EEE | OREE N R B | EE A
B EE =S | =S LA AT
4 [11-20~12:10 j‘é@ﬁf - (K= | K= p P, :”%%g{iﬁ%g/ AP (—) (WhyFR— 7y
S 0 (FFEA) GEER) | oED - 403 (E2E4E) (B
K 402 1E 403 1E 406 % 102 1F 403
5 |12:20~13:10
LG R
ALHIEER(—)() | B ER(ON) | ERESCEE  |IR(TSCEE| Wi ;@3}@% 2V o FIgE 135 (—)00)
6 113:20~14:10 IR= IR~ IR BR— | (R o | gy | OIIRE IR=
' ’ (BEERR) (EEE) GEFEa -ty | BRRE) | ki) (=R o (FRITIID (HF5E)
1E 102 1E 102 3EERE 1F 403 &% 202 E 102 1E 102 IMEHRE
LB R
TAEHIEER(—)() | BRI | ERECEE  |MR(TSCEE| WIS %ﬁggﬁ 2V e bs S35 (—)(00)
7 |14:20~15:10 IR= IR= IRIY SUR— | (—UR= | e | OIWR= IR=
' ' (BEERR) (FEE) FFE -t | BRRE) | (ki) () ’ ’ (FRITIID (HF5E)
I 102 iE 102 I E403 | %0 il i 102 3EHE
B O HiEsE=
( ffjffj@ f?;gﬁ%f% R gk RS K= ”f?ﬂ e
8 [15:30~16:20|" ..o R ir (BREEEE) (RN K—EX e
(FFFED) (FAF0) 100 F 100 (B2
1E 102 1E 306 1F 403
JEEN AN i (P j=Eh *I‘j""’“é‘fﬁi%—‘
( ff@*f@@; f&;gjéf% BRI RSB = S TR AR vl L
9 |16:30~17:20 .. i (BEHEIE) (E=RaNE) (MF55) A—EIZ e
(FRISED) (FEA0) T 100 10 4 202 (EZ48)
1E 102 1E 306 1E 403
SRS E() AT
10 |17:30~18:20 (BT
5k 202




